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= The absence of the teeth from the arch may be
due to the non-eruption of fully calcified teeth;
to non-evolution of the tooth germ; to the
failure of the calcification processes in the dental
follicle; to injury to the developing tooth germ
from traumatism or infectious processes; to the
accidental removal of the permanent tooth
germ by the extraction of the deciduous tooth;
to the transformation of the tooth germ into an
odontoma




= Whenever a calcified tooth does not erupt, it is a
case of incarceration or impaction according to
whether the path leading to normal position in
the arch is free or obstructed. This abnormality
affects the third molars, upper and lower, the
upper second bicuspids, the upper laterals and

upper and lower cuspids with greater frequency
than other teeth.




The influence of heredity in these abnormalities
of number is well shown in the case of the upper
laterals, this tooth being sometimes absent
through several generations, in one or several
members of the same family.
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The absence of the complete dentition,
both deciduous and permanent and of the
permanent alone, is an extremely rare
occurrence, nevertheless cases of this kind

are on record in dental literature.




The absence of the permanent upper right lateral incisor is a
rather frequent abnormality. The absence of a lower incisor is a
rare abnormality. A lower bicuspid may be absent and when it
fails to erupt it is the second more frequently than the first. The
permanent first molar may be absent owing to the failure of the
fully calcified tooth to erupt, its presence in the substance of
the jaw being made evident with the aid of radiography. The
absence of the permanent cuspids is rarely the result of the
non-development of the tooth, but in most instances is due to
the failure of the fully formed tooth to erupt.




The absence of deciduous teeth is occasionally observed.
The absence of teeth from the arch should be diagnosed
invariably with the aid of carefully secured radiograms.
Unquestionably, many cases of absence of teeth are cases
of non-eruption or incarceration of fully calcified teeth,
which remained within the substance of the jaws; in some
cases this incarceration does not cause any apparent
discomfort to the patient, while in others it produces
reflex manifestations of varying degrees of intensity




[lpamMaa U KocBeHHada pedb B
aHrmMMnckom asbike. Direct and
Indirect Speech

= Ecnm Heobxoanmo nepesatb CkazaHHOe kKeM-A1Mbo, MOXHO
cAenatb 3To, NCNoNb3ya NpAMYIo peub(Direct Speech)
AN KocBeHHyto peub (Indirect Speech).
B npamou peumn ckasaHHoe keM-1nbo nepesaerca TOUHO, be3
M3MEeHeHNKN, N 0POPMIAETCA KaBblukaMn. B kocBeHHOM peun
HEKOTOpbIe C/I0BA FOBOPALLErO MOTYT OblTb U3MEHEHbI, U KaBblYKM
He CTaBATCS.

= [Ipumepesi:Direct Speech: Bob said, “Paris is great.” — 5ob cka3zan:
«[Mapux npekpaceH».
Indirect Speech: Bob said (that) Paris was great. Bob6 cka3an, uto
[Mapux npekpaceH




Direct speech Indirect speech

Present simple Pastsimple

)
She said, "|t's cold.” She said it was cold.

Present continuous ) Past continuous

She said, "I'm teaching English online." She said she was teaching English online.

Present perfect simple Past perfect simple

)
She said. "lI've been on the web since 1999." She said she had been on the web since 1999

Present perfect continuous Past perfect continuous
She said, "I've been teaching English for ) She said she had been teaching English for seven
seven years." years

Past simple Past perfect

)
She said, "I taught online yesterday." She said she had taught online yesterday

Past continuous y Pastperfect continuous

She said, "I was teaching earlier." She said she had been teaching earlier

Past perfect Past perfect
She said, "The lesson had already started ) NO CHANGE - She said the lesson had already
when he arrived.” started when he arrived

Past perfect continuous Past perfect continuous

She said, "I'd already been teaching for five ? NO CHANGE - She said she'd already been teaching

minutes." for five minutes.




MpaBuna obpaweHuns npsmon peum B
KOCBEHHYIO peub

= 1. Ecam rnaron rnaBHoOro npesioXXeHmns BBOAALLNM
KOCBEHHYO peyb, ynompebaeH 8 Hacmosuwem uau bydyuem
BpemeHU, TO r1IaroN NPUAATOYHOr O NPeAI0XEHUS B
KOCBEHHOW peyn OCTAETCS B TOM X€E BPEMEHU, B KAKOM OH
6bl1 B npAMoON peuwn.

= [Ipumepsbi:He says, "l have your T-shirt.” — OH roBopuT: «Y
MeHS eCTb TBOS PyTHOIKAY.
He says that he has my T-shirt. — OH roBopuT, 4uTO Y Hero
ecTb Mosa pyTHOsIKA.

= 2. Ecam rnaron rnaBHoOro npeasioxXeHus, BBOAALLMN
KOCBEHHYO peyb, ynompebaieH 8 00HOM u3 npouwedwiux
BpemeH, TO BPeMsi r1aro/ia NpuAaTO4HOro NpeAsioxkeH s
NPsIMON peyn 3aMeHSIeTC KOCBEHHOM peyblto U
ynoTpebasieTcs cornacHo NpaBu/y COr1aCcoOBaHMS BPEMEH




CyLLecTBYIOT NPOCTLIE NpaBuna nepegavym NpPsiMon pevn KOCBEHHOW PeYbIo:

1. MMaronbl B npsiMoun peun B goopme Present Tense ynotpebnatoTca B KOCBEHHON
peun B popme Past Tense. [lononHUTENbHO O

Present Simple — Past Simple

Present Continuous — Past Continuous

Present Perfect — Past Perfect




2. maronbl B npsimon peyvn B popme Past Tense ynotpebnsatotcs B
KOCBEHHOW peun B gpopme Past Perfect (unn moryTt He ynotpebnaTtsca).
J10MONMHNTENBHO O BpeMeHax rrarosna.

Past Simple — Past Perfect

Present Perfect — Past Perfect




3. maronbl B npamMoun peyvn B popme Past
Perfect He ~sSMeHsaTCA.
Past Perfect — Past Perfect




4. [nmaronsl B NpsAMoOn peyn B ftodom dbyayuiem BpeMeEHM
nepexoadaT B COOTBETCTBYHOLEE eMy DyayLiee B npowleawem B
KOCBEHHOW peyn. [JOnoNHUTENBHO O

Future Simple — Future Simple in the Past

Future Continuous — Future Continuous in the Past
Future Perfect — Future Perfect in the Past




5. DopMmbl B nNpsiMmon peyvn B popme Past Tense
MEHSIIOTCA B KOCBEHHOW peyn crieayowmm obpasom.

can — could

will - would

shall — should

may — might

Ho doopmbl Past Tense ot MmoganbHbIX

rnaronos could, would, should, might B kocBeHHOW peyn coxpaHATCA.

MNMpsamas peub (Direct speech) KocBeHHas peub (Indirect
speech)

“We will go home.” «Mbl npugem She said that they would go home.
OOMOWNY. OHa ckasana, 4To OHU NpuayT
OOMOMN.

She said, “You could help my She said that | could help her
sister.”OHa ckasana: «Tbl mor sister. OHa ckasana, 4To 9 Mor
NOMOYb MOEN CECTPEY. Nnomouyb ee cecTtpe./td>




6. MoganbHbI rnaron must B KOCBEHHOW PeYn MOXET HE MEHATLCS, U MOXET
NpuHMMaTb popmy npoLueLero BpeMeHn oT KOHCTPYKUumM have to = had to.
Hl 7. N Hape4ynsa BPEMEHU N MeCTa B NPSIMON peyn 3aMeHSITCA
B KOCBEHHOM pPeYn Mo CMbICIY APYrMMK CIIOBaMu, Kak N B PYCCKOM SI3bIKE.
lNpumepsni:He said, “I shall do it tomorrow.” — OH ckasan, 4YTo caenaeT 3To 3aBTpa.
He said that he would do it the next day. — OH ckasan, 4To cgenaert 310 Ha cregyroLwum
JEHb.

Mpamas peub (Direct speech) KocBeHHas peub (Indirect
speech)

there
that/the

those

here
this

these

now then
today that day
tonight that night

tomorrow the next day/the following day

yesterday the day before/the previous day

next Monday the following Monday

last Friday the previous Friday

the day before yesterday two days before/two days earlier

ago ago before




= 8. /InyHble N NpUTSXKaTebHble MECTOMMEHUS NPSMOWN PeYn 3aMeHSAITCA No
CMBbIC/Y, KaK M B PyCCKOM f3bIKe.

= [Ipumepsi:He says, | have your T-shirt.” — OH roBopuT: «Y MeHs eCTb TBOS
byTbonkar.
He says that he has my T-shirt. — OH roBopuT, uTO Yy Hero ectb Mmos pyTboska.
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® Indirect Speech

He says, ‘I am . He says that he 1s
well today.’ well today.

She ,says, ‘I like 1t . She says she likes 1t
here there.

She says, ‘My
friend was
travelling a lot’.

He says, ‘I played * He says that he
football played football

yvesterday’. yesterday.
§57 MyShared

She says her friend
was travelling a lot.
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